A

Set

HTET Exam., - 2022
Level - 3
Sub. Code No.: 908 ECONOMICS

Final Answer Key

. ~
2 — — — — — ™ — — — — — — — — — — — — — — — — — — — — — — — =
1 B B I I S A =Y B S RS SN Y SN S RS Y = I B SN Y = Y B = = Y Y s =)
< —
N. =l K\ H Ko} Bl Bl Bl Bl K-l E= E=1 =l Es Kl Bl Bl Bl Bl BN E- E=1 E= Es B Kl Bl B BN Eal BN e N=
Alalalalalalalalalaln]laa]loaloa]lon]loaolan]laa]lalTFl vl TFl ]l ] 0
Q — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —
2 — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —
M L) IRSA)N RN\ RSN NN el Bbanll Mbanl RSN B IS IS BRSOV Bl IS NS BESLAN BN B ON NN BESLN SN BNSaN IR Rl Bbanil NS Bhanll BRSLX RN
N. =l K2l Kol Bl Bl Bl 2N E= K= B=l K2l Kol Bl B2l B Bl BN E- K= E=N K<\ B Kol B B2 =N H o l-CN e W e
aoalalalaoalaoalaolalala]ld]lololololololololol~l~l~l~1—~1~l~=]|~]~]~]|a&
Q o () () () () () () () () — — — — — — — — — — — — — — — — — — — — —
2 — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —
M bl SO BRSNS ol IS BRSLN INSAVN SN BN B Bl IRSAJN BRSO BNSUN BESLN BNSSN BRSs)N IR RNSLN Nhanil BESEN B B ON BRGOX BNSUN Nbanil B BRSLX BNoA)
N. =l Ko\l Nl Il el BN=3 Bl 2N B E=1 Bl Kol el Bl B2l Bl ol BN EoY =1 Bl Es B Evxl Bl Bl Bl B ol < E-Y K=
O O O O O O O O O >~ >~ >~ >~ >~ oy oy >~ >~ >~ o0 o0 o0 o0 o0 o0 o0 o0 o0 o0 AN
SIESARA B B R B A B BEA B B B A B2 B= RN Rl Bl RN Rl BSE RSN RSl BSH RSN Bl NSH RSN B RSN R
2 — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —
M LN Bl RSN BN S BESN IOl IOl RSN Bl BESUN Bbanll B0l Bl BN RSN Bbanil BRSON Bbanll BESLN Bhanil Bhanill BRSLN IRSUN SN BN Nhanil BN IRSLN BN
N. — |l ]l vl ]l lalo]l—~la]lan]ldglwn]lo|lc]lelaolo]l~lalonldg|ln]o|lc]lo]lal o
(eg) (eg) (eg) (eg) (eg) (eg) o o o <t <t <t <t <t <t <t <t <t <t ) ) ) ) ) ) ) ) ) ) O
Olelele|ele]eleleeleleleleleleleleleleleleleeleeeleleele
2 — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —
M LN IRSA) RSN hanil B BNSEN IRSLN IR Bbanll Mhanil BESEN Mbanll IRSAJN RSN S IS Bbanll BRSOXN INSAVN RNQCH RGP Mbanil Bhanl B ON RSN VSN Bhanil B IRSLN BNoA)
N. =l K2\l Kol Bl B2l Bl K2l - K= =N K\l K<l Bl B2 Bl Eal BN e NN BTN RO N el Bl BN Bl Eol Kl K<Y K=
ololololololololSl =]~~~ —=l—=1=|l=|l=]=|qQlalJlalalJlalJla|laQlalala]|an
SIESARA B B RSA B RS2 RS B B B B A B2 B BER Rl Bl BN Bl B RSN Bl BN RSN Bl BSR RSN Bl RSN R

[*] means 1 mark given



B

Set

HTET Exam., - 2022
Level - 3
Sub. Code No.: 908 ECONOMICS

Final Answer Key

. ~
2 — — — — — — — — — — — — — — — — — — — — — — — — ™ — — — — —
1 BN By B B B =N = S S I Y = = RS I Y B = B N = S ot s T S S Y A S
< —
N. =l K\ H Ko} Bl Bl Bl Bl K-l E= E=1 =l Es Kl Bl Bl Bl Bl BN E- E=1 E= Es B Kl Bl B BN Eal BN e N=
Alalalalalalalalalaln]laa]loaloa]lon]loaolan]laa]lalTFl vl TFl ]l ] 0
Q — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —
2 = — — — — — — — — — — — — — — — — — — — — — — — — — — — — =
M hnll IRSAJN RRGO)N RSN IS IS Bl IR RSN BN N BESER Bhanll B0l RSN RSN hanil B IRSLN INGAUN Bbanll BESLN BESEN BNSRNN Mol RRSA RSN B B IRSLN Bbanl
N. =l K2l Kol Bl Bl Bl 2N E= K= B=l K2l Kol Bl B2l B Bl BN E- K= E=N K<\ B Kol B B2 =N H o l-CN e W e
aoalalalaoalaoalaolalala]ld]lololololololololol~l~l~l~1—~1~l~=]|~]~]~]|a&
Q o () () () () () () () () — — — — — — — — — — — — — — — — — — — — —
2 — — — — — — — — — — — — — — — — — — — — — — — — — — — — — =
M LN IRSAJN BN IS SN B BRSO IOl RSN Bl BESLN INSaN Bhanll BRO)N BNSUN Bbanil BESLN Bhanll S ON RRCH NS Nhanil BRSON B ON RRSA BN B BESER BIS Bbanl
N. =l Ko\l Nl Il el BN=3 Bl 2N B E=1 Bl Kol el Bl B2l Bl ol BN EoY =1 Bl Es B Evxl Bl Bl Bl B ol < E-Y K=
O O O O O O O O O >~ >~ >~ >~ >~ oy oy >~ >~ >~ o0 o0 o0 o0 o0 o0 o0 o0 o0 o0 AN
SIESARA B B R B A B BEA B B B A B2 B= RN Rl Bl RN Rl BSE RSN RSl BSH RSN Bl NSH RSN B RSN R
2 — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —
M hnll IRSUN RSN ESUN B IS B0l BRSO Bbanll B IESEN Mbanll IRSAJN RSN BNSUN RSN B Bhanll BRSOV RNSLN B Bbanil Bbanll Mol Bbanll BVSUN BNSC BESER RGNS IS
N. — |l ]l vl ]l lalo]l—~la]lan]ldglwn]lo|lc]lelaolo]l~lalonldg|ln]o|lc]lo]lal o
(eg) (eg) (eg) (eg) (eg) (eg) o o o <t <t <t <t <t <t <t <t <t <t ) ) ) ) ) ) ) ) ) ) O
Olelele|ele]eleleeleleleleleleleleleleleleleeleeeleleele
2 — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —
M bl (D IRV IS N el BN Ml BNC Bhanil Mhanill BESLN IRSAJN BESAN BNSUN BNS B BRSO Mbanl ESLN BN BESUN Bbanll Mol SN NS BESLN BNSEN IRSLN RNoa)
N. =l K2\l Kol Bl B2l Bl K2l - K= =N K\l K<l Bl B2 Bl Eal BN e NN BTN RO N el Bl BN Bl Eol Kl K<Y K=
ololololololololSl =]~~~ —=l—=1=|l=|l=]=|qQlalJlalalJlalJla|laQlalala]|an
SIESARA B B RSA B RS2 RS B B B B A B2 B BER Rl Bl BN Bl B RSN Bl BN RSN Bl BSR RSN Bl RSN R

[*] means 1 mark given



C

Set

HTET Exam., - 2022
Level - 3
Sub. Code No.: 908 ECONOMICS

Final Answer Key

. ~
2 — — — — — — — — — — — ™ — — — — — — — — — — — — — — — — — =
1 BN BN B = S = S SN Y S SN BT Y S RS SN S ESH = B Y S i Y ) I S = S =)
< —
N. =l K\ H Ko} Bl Bl Bl Bl K-l E= E=1 =l Es Kl Bl Bl Bl Bl BN E- E=1 E= Es B Kl Bl B BN Eal BN e N=
Alalalalalalalalalaln]laa]loaloa]lon]loaolan]laa]lalTFl vl TFl ]l ] 0
Q — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —
2 = = — — — — — — — — — — — — — — — — — — — — — — — — — — — —
M bl el SN INSCT S IS ERSLN BN Bbanll Bhanil BESEN Bhanll (RSN BRSO BNSC BESLN BNSEN IRSLN Mbanl NS Nhanil BESUN B B ON IRSAN B SN BES2N RSN RN
N. =l K2l Kol Bl Bl Bl 2N E= K= B=l K2l Kol Bl B2l B Bl BN E- K= E=N K<\ B Kol B B2 =N H o l-CN e W e
aoalalalaoalaoalaolalala]ld]lololololololololol~l~l~l~1—~1~l~=]|~]~]~]|a&
Q o () () () () () () () () — — — — — — — — — — — — — — — — — — — — —
2 — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —
M Al ol RSN IS B BNl Bl Bl NSO Bhanil IESUN BESLN IRSAJN RRGO)N BNSAN NN BNSEN BRSOl IR Bbanll B BESEN BRSRNN IRSUN Rl NS Nbanil BNSEN BISON BNoA)
N. =l Ko\l Nl Il el BN=3 Bl 2N B E=1 Bl Kol el Bl B2l Bl ol BN EoY =1 Bl Es B Evxl Bl Bl Bl B ol < E-Y K=
O O O O O O O O O >~ >~ >~ >~ >~ oy oy >~ >~ >~ o0 o0 o0 o0 o0 o0 o0 o0 o0 o0 AN
SIESARA B B R B A B BEA B B B A B2 B= RN Rl Bl RN Rl BSE RSN RSl BSH RSN Bl NSH RSN B RSN R
2 — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —
M LN IRSUN Rl IESUN B Bl BRSON INAXN BN Bhanil IS IS IRSAJN RSN RSN Bl B Bhanll Bl BN Bhanil BESUN BESLN BRSAJN RRGOYN BNSAN B Bbanll BRSLN Mbanl
N. — |l ]l vl ]l lalo]l—~la]lan]ldglwn]lo|lc]lelaolo]l~lalonldg|ln]o|lc]lo]lal o
(eg) (eg) (eg) (eg) (eg) (eg) o o o <t <t <t <t <t <t <t <t <t <t ) ) ) ) ) ) ) ) ) ) O
Olelele|ele]eleleeleleleleleleleleleleleleleeleeeleleele
2 — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —
M hnll el SN INSC hanil BNSEN BRSO IR Bbanll Bhanil Bhanill BESLN IRSUN Bl NS BESUN BNSEN BRSLN ISR RNCH BN B Bl BRSAVN RRGOXN BNSAN B Bhanll IRSLN BNoA)
N. =l K2\l Kol Bl B2l Bl K2l - K= =N K\l K<l Bl B2 Bl Eal BN e NN BTN RO N el Bl BN Bl Eol Kl K<Y K=
ololololololololSl =]~~~ —=l—=1=|l=|l=]=|qQlalJlalalJlalJla|laQlalala]|an
SIESARA B B RSA B RS2 RS B B B B A B2 B BER Rl Bl BN Bl B RSN Bl BN RSN Bl BSR RSN Bl RSN R

[*] means 1 mark given



D

Set

HTET Exam., - 2022
Level - 3
Sub. Code No.: 908 ECONOMICS

Final Answer Key

. ~
2 — — — — — — — — — — — — — — — — — ™ — — — — — — — — — — — —
Slolalalalalalal izl 2zl lzlal 2ol 2ol
< —
N. =l K\ H Ko} Bl Bl Bl Bl K-l E= E=1 =l Es Kl Bl Bl Bl Bl BN E- E=1 E= Es B Kl Bl B BN Eal BN e N=
Alalalalalalalalalaln]laa]loaloa]lon]loaolan]laa]lalTFl vl TFl ]l ] 0
Q — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —
2 — — — — — — — — — — — — — — — — — — — — — — — — — — — — = —
M LI IO BNt S banil BNSRNS Bbanll IS ON Mbanll S Mbanill BRSANN Mol BN S RSN BESLA BRSO BRSOV RSN RESLN BESLN BESLN BRSA)N Rbanl BNC NN BESLN Bhanlll RNoA)
N. =l K2l Kol Bl Bl Bl 2N E= K= B=l K2l Kol Bl B2l B Bl BN E- K= E=N K<\ B Kol B B2 =N H o l-CN e W e
aoalalalaoalaoalaolalala]ld]lololololololololol~l~l~l~1—~1~l~=]|~]~]~]|a&
Q o () () () () () () () () — — — — — — — — — — — — — — — — — — — — —
2 — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —
M LN IRSUN ot NSt BESuN BESLN BRa)N IOl RSN Bhanil B IS IRSUN BRSO B RS B Bhanll INAN Rbanll NS BESEN Bbanll Mol S ON B SN BESEN IRSLN IS
N. =l Ko\l Nl Il el BN=3 Bl 2N B E=1 Bl Kol el Bl B2l Bl ol BN EoY =1 Bl Es B Evxl Bl Bl Bl B ol < E-Y K=
O O O O O O O O O >~ >~ >~ >~ >~ oy oy >~ >~ >~ o0 o0 o0 o0 o0 o0 o0 o0 o0 o0 AN
SIESARA B B R B A B BEA B B B A B2 B= RN Rl Bl RN Rl BSE RSN RSl BSH RSN Bl NSH RSN B RSN R
2 — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —
M LN el SN S banil Bl BRSO IS ON RSN B B IESSNS RSN BN BNSUN B vl Bhanll BASON BRCH Bhanl Bhanil Bhanll IRSUN IRSN RSN BESER BN IRSLN Bbanl
N. — |l ]l vl ]l lalo]l—~la]lan]ldglwn]lo|lc]lelaolo]l~lalonldg|ln]o|lc]lo]lal o
(eg) (eg) (eg) (eg) (eg) (eg) o o o <t <t <t <t <t <t <t <t <t <t ) ) ) ) ) ) ) ) ) ) O
Olelele|ele]eleleeleleleleleleleleleleleleleeleeeleleele
2 — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —
M hanll IO Bl NS BESUN BESLNS BRSO IR Bl BNc BNSEN Mhanll Mol RSN BNC hanil BNSEN BOSON IR Bbanll BESLN B Bhanll BRSAVN RRGOVN B SN BNSEN Bhanll SO
N. =l K2\l Kol Bl B2l Bl K2l - K= =N K\l K<l Bl B2 Bl Eal BN e NN BTN RO N el Bl BN Bl Eol Kl K<Y K=
ololololololololSl =]~~~ —=l—=1=|l=|l=]=|qQlalJlalalJlalJla|laQlalala]|an
SIESARA B B RSA B RS2 RS B B B B A B2 B BER Rl Bl BN Bl B RSN Bl BN RSN Bl BSR RSN Bl RSN R

[*] means 1 mark given



